
Rev. 1 

1 
 

                                             
54” Disc (DP-8) 

 
 
 
 
 

 
 
 
 
 
 
 

 
 
 
 
 
 

Parts Identification: 
 

 
 

_______________________________________________________________________________________________________________ 
 
Right Hand Orientation:   This is a top view of the Right Hand side of the Disc.  NOTICE:  The side with the 2 – 3/8” 
hardware and the 5/8” bolt needs to be facing towards your ATV as shown below.   

 

                                                    

NO. Description QTY. Spare P/N 
1 Top Swivel Bracket 2 60003 
2 Main Bearing Carrier 2 60004 
3 Main Axle 2 60005 
4 Full Spindle 2 60006 
5 Large Dia. Spindle 6 60007 
6 Small Dia. Spindle 4 60008 
7 Spindle Bearing 4 110011 
8 14” Notched Disc 8 110010 
9 ¾” – 10 Nylock Nut 2 

10 ¾” I.D. x 2” O.D. Washer 2 
11 3/8” – 16 x 1.25” Hex Bolt 6 
12 3/8” Washer 12 
13 3/8” – 16 Nylock Nut 6 
14 ½” - 13x 1.50” Carriage Bolt 16 
15 ½” – 13 Nylock Nut 16 
16 5/8” – 11 x 2” Hex Bolt 2 

60009 

11

1

5
8

4 8 

3

6 

10
9 

5 

5 

6 

7

2 

3-Point/ATV Side

12

Standing behind Implement 

ATV/3-Point Side 



Rev. 1 

2 
 

                                             
Mounting Instructions: 
1.  Starting with the Right Hand side, attach the Spindle Bearings to the Main Bearing 
Carrier as shown below using the (8 of the 16) ½” Carriage Bolts and Nuts.  Tighten 
securely.  The bearings should be set as shown as this allow for the most room and 
helps to keep grass or debris from collecting in between the disc and bolts. 

(1.)                   (2.)   
 
2.  Now, attach the swivel bracket to the top of the Main Bearing Carrier.  Using the (3 of 
the 6) 3/8” Hex Head Bolts, along with the 3/8” Washers and Nylock Nuts, tighten the 
swivel bracket securely.  The bigger angle you choose to use on the Swivel Plate, the 
more aggressive the disc(s) will cut.  Kolpin suggests using the 3rd hole from the left 
side of the Main Bearing Carrier (for the right hand side) as shown above. 
 
3.  Now, for the left hand side.  The bearings go opposite that of the right hand side 
shown above.  Using the rest of the (16) ½” Carriage bolts, tighten the bearing securely.  
The Left hand side should like exactly as shown below. 

(3.)           (4.)   
 
4. Next, attach the swivel bracket to the top of the Main Bearing Carrier.  Using the (3 of 
the 6) 3/8” Hex Bolts, along with the 3/8” Washers and Nylock Nuts, tighten the swivel 
bracket securely.  The larger angle you choose to use the more aggressive the disc(s) 
will cut.  Kolpin suggests using the 3rd hole from the right side of the Main Bearing 
Carrier (for the left hand side) as shown above. 

  3rd Hold from left of bracket! 



Rev. 1 

3 
 

                                          
5.  Next, slide one disc onto the main axle. 
 

 
 
6.  Now, slide the full spindle over the main axle and up tight to the disc. 
 

 
 

7.  Then, slide on a second disc. 
 

 
 

8.  Now slide one of the large diameter spindles onto the axle. 
 

 



Rev. 1 

4 
 

                              
9.  This next part proves to be a little tricky and may require the help of another person 
to help support the disc.  The Main Bearing Carrier needs to go on the axle, but so do all 
the components sandwiched in the middle of the Bearing Carrier.  First, start the Bearing 
Carrier onto the square axle (9a.).  Next, the Small Diameter Spindle goes on so that the 
open end of the spindle is touching the bearing as shown (9b.).  Then, set the disc on 
top of the Small Diameter Spindle and start lowering the assembly onto the axle (9c).  
Lastly, slide the Large Diameter Spindle onto the disc so that the flange is touching the 
disc, as shown below (9d.).  Below is a broken down series of pictures to help illustrate 
how the assembly is to go together. 
 

(9a.)               (9b.)   
 
 
 
 
 

------------------------------------------------------------------------------------------------ 
 
 
 

(9c.)                      (9d.)    



Rev. 1 

5 
 

                              
10.  Now that the Main Bearing Carrier is on, place the Small Diameter Spindle so that 
the open end is touching the bearing, as shown in the picture below. 
 

 
11.  Next, slide on the final Disc.  Then place the final Large Diameter Spindle on the 
Disc so that the flange is touching the Disc as shown below. 
 

 
12.  The final step is to secure the whole disc together.  Place the ¾” Washer and Nut 
onto the end and tighten the disc securely.  NOTE:  After the first use check the 
tightness of the system.  Usually after the first use the disc will become slightly loose as 
the metal components mesh together.  Retighten the system before each use, as a loose 
Disc will cause unnecessary wear and tear on the components. 

 
 
13.  Repeat steps for the opposite Disc! 
 

Kolpin Outdoors, Inc. 
205 N. Depot Street, Fox Lake, WI 53933 

Phone #: (877) 9KOLPIN or (920) 928-6514 
www.kolpinpowersports.com 
customerservice@kolpin.com 



Rev. 1 

6 
 

General Use and Maintenance: 
- With proper care the DirtWorks Disc will give you many years of dependable service.  After use 
we recommend that you clean off any mud, dirt or debris that might have accumulated on your 
implement.  As with any ground engaging implement, paint scratches and worn paint will be 
evident after its first use.  We recommend either painting exposed bare metal surfaces with any 
type of black spray paint intended for metal objects.  Use of moisture displacing oils such as “WD-
40” should keep the implement from rusting also. 
- Disc Plows or “Disc Harrows” as some in the industry call them are typically not used to “turn 
over” new ground, and it is recommended that if you have purchased the Disc Plow for new soil 
preparation that you allow extra time for working the soil to gain the desired results in the end.  
Disc Plows will cut established turf, but will require additional passes.  We recommend removing 
as much of the grass and over growth as possible.  When you get started, start with shallow cuts 
in the soil until you get a feel for how deep your ATV can handle cutting without over working 
your ATV’s Engine.  You are better to make multiple cuts over the same area, than to try to make a 
single pass at a very deep cutting depth.  This process of multiple passes will also result in better 
ground preparation and seed germination. 
- The 14” Notched Discs are specially heat treated and sharpened to provide a durable cutting 
edge.  You may experience a chipped disc edge at times; however, this doesn’t affect the Discs’ 
ability to cut.  If a disc should “break” Kolpin recommends that you replace it immediately to 
prevent damage to the bearings or the main disc assembly. 
 
Warranty Information: 
The 14” Notched Disc and the Spindle Bearings are “Wear Items” and are not covered under the 
Kolpin Outdoors, Inc. warranty program.  Kolpin does stock replacement parts for either item if in 
the event you should need a replacement.  All other items listed are covered under our 1 year 
warranty.  Contact Kolpin Customer Service for warranty information. 
 
Warnings: 
** Always use CAUTION when operating any ATV with accessories or additional implements 

secured to the ATV. 
** DO NOT allow any passengers on the ATV. 
** Excessive speeds can cause serious injuries or death.  DO NOT exceed 5 mph when the 

“DirtWorks 3-Point Hitch” or any accessories are secured to your ATV. 
** Keep hands and feet away from all “DirtWorks 3-Point Hitch” parts and implements. 
** DO NOT use the “DirtWorks 3-Point Hitch” or any of its implements to carry a person. 
** Follow manufactures maximum recommended towing capacities for your ATV. 
** Stay away from all moving parts. 
**Additional weight may be needed on the ATV to help provide proper weight distribution to the     

wheels for safety.  Add weight to the opposite end of the ATV of which the “DirtWorks 3-Point 
Hitch” is secured. 

**DO NOT place yourself or any parts of your body under, between or on any part of the 
“DirtWorks 3-Point Hitch” or its implements. 

** Use CAUTION when removing and replacing either the “DirtWorks 3-Point Hitch” or its 
implements, they are heavy.  Assistance may be required. 

** As with any accessory secured to an ATV, additional weight from the “DirtWorks 3-Point Hitch” 
and its implements can reduce steering, breaking and overall handling of your ATV.  Allow for 
increased breaking distances when stopping.  Steering will be affected and it is advised to 
reduce speeds when doing any turning.  Failure to use caution could result in an injury or death. 

** DO NOT traverse on terrain that contains steep grades, as the ATV could overturn causing 
injury or death. 

THANK YOU FOR PURCHASING THE KOLPIN DIRTWORKS PRODUCTS!!! 


